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(1)  should not (shouldn’t) = ~F 25X TlI2W

<> You should not (shouldn’t) drink that. (B7pT1Z, HBNEKIRE TITRVWTY)

We should not (shouldn’t) open the window.  (FL7=Hix, BEBIT 2 X& TIERWVWTT)
(2) mustnot (mustn’t) = ~ L CT{IWMF 72\ (maynot L U &5REEIE)

<f5l>  She must not (mustn’t) go there. (e, £ AT TUIWITEEA)

You must not (mustn’t) use this machine.  (®772iL, Z OHEBAE > TUIWTEEA)
(3) donot(don’t) haveto = ~L72<THWN
<f5|>  We do not (don’t) have to finish this. BBz kb bR THVNTT)
She does not (doesn’t) have to come here. (f#&iXZ ZickAa< THLWWNTT)
(4)  could not (couldn’t) = ~TX7) 572 (cannot DIWBE)

<f5> 1 could not (couldn’t) help you. (RhE, HRF-2MITH 2 ENTEEFATLE)
They could not (couldn’t) go to France. (#1513, 75 > A< Z &N TEEHATLE)
(5) may not EWEIERVY) = ~TDHZ EIETE72YY (cannot DT ERF V)
=~TRWVW1H LR
<ffl>  You may not stay here. (B7at=1E, VWD LITTEERA)

He may not like the present.  (HIZ7 LB FERICAL RS LIVERA)
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